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QUESTION 1

An IT organization has hired you as a cloud architect to assist them in planning for cloud services. Your first goal is to
help the IT organization categorize existing services against service characteristics. You have provided a table that
shows common service characteristics and their attributes for considerations, benefits, and trade-offs.

The following attributes from the table have been identified:

Consideration: bundling services increases complexity Benefit: replaceable components, improved recovery from failure
Trade off: very finite capability

What characteristics correspond to the identified attributes?
A. Discoverable, Composable, and Idempotent

B. Discoverable, Reusable, and Autonomy

C. Composable, Loosely Coupled, and Autonomy

D. Idempotent, Loosely Coupled, and Reusable

Correct Answer: C

QUESTION 2

A cloud architect is helping a company with a new service design process. The architect notices that the company has a
siloed, domain-centric IT organizational structure and is concerned about customer satisfaction.

What impact would this type of structure have on customer satisfaction?
A. Reduction in the supported number of tenants

B. Delays with service authentication

C. Decrease in service performance

D. Delays in problem resolution

Correct Answer: D

QUESTION 3

You are designing a cloud services architecture for a company. You have determined that running some of the customer
facing applications the company uses in a public cloud would save a significant amount of money but the security

department wants to retain control of customer data at rest. The application infrastructure consists of two database
servers and eight web servers.

How can you architect the application to minimize the risk involved with data exposure?
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A. Host the application servers in the public cloud and host the databases in the private cloud.

B. Scale the application horizontally by utilizing a hybrid cloud where the application and database are mirrored a public
cloud.

C. Cluster four of the application servers and one database server in the public cloud and the remaining servers in the
private cloud.

D. Host the application servers and database servers in the public cloud and set up RBAC to restrict access to the
applications

Correct Answer: A

QUESTION 4

You have been asked by a company to help drive IT efficiency, focusing specifically on direct, short-term activities. What
would you recommend?

A. Begin development of a self-service portal for the business to develop and deploy applications

B. Attempt to consolidate vendors of hardware and software running in the environment by simplifying workloads

C. Identify applications with workloads that run infrequently or that require boutique services for migration to the cloud
D. Initiate a cloud comparison initiative to compare the price of competing cloud alternatives

Correct Answer: B

QUESTION 5

A company wants to deploy services in a new cloud infrastructure. The cloud architect is helping the company design
services and realizes that the company is having trouble because of a legacy, organizational structure. The company is
introducing multiple touch points into the service delivery process.

What impact will these additional touch points have on the process?

A. Increase in the number of APIs.

B. Increase in service catalog deployments

C. Delays in service delivery

D. Delays in metric collection

Correct Answer: C
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